Trig equations

Find the two solutions for each of the following in the range 0 =< x < 360:
(Give each answer correct to the nearest whole degree).

(@) sinx°=0-500 (b) cosx®°=0-707 (c) tanx®=0-869
(d) cosx°=0-940 (e) tanx®=1-280 (f) sinx°=0-574
(g) sinx®=0-990 (h) tanx®=6-314 (i) cosx°=0-391
() cosx®=0-985 (k) sinx° =0-866 1) tanx®=1-732

Rearrange each of the following and solve them in the range 0= x < 360.
(Give your answers correct to 1 decimal place).

(@ 2cosx°—-1=0 (b) Ssinx°-4=0 (¢) 10tanx°-7=0
(d) 1-3sinx°=0 () 5-6cosx°=0 (f) 3tanx°-5=0

Find the two solutions for each of the following in the range 0 < x < 360:
(Give each answer correct to the nearest whole degree).

(a) sinx°=-0-500 (b) cosx® =-0-707 (c) tanx® =-0-384
(d) cosx®=-0-292 (e) tanx®°=-1-000 (H) sinx® =-0-866
(g) tanx®=-4 (h) sinx®=-0-174 (i) cosx®=-0-927

Rearrange each of the following and solve them in the range 0 < x < 360.
(Give your answers correct to 1 decimal place).

(@ 4sinx°+1=0 (b) Scosx°+3=0 (¢) 3tanx°+1=0
(d) 7+8cosx°=0 () 0-4sinx°+03=0 () Stanx°+8=0

Solve the following mixture of trigonometric equations in the range 0 < x < 360.
(Give your answers correct to 1 decimal place).

(@) sinx°=0-323 (b) cosx°=-09 (c) tanx®=0-678
(d) cosx®°=1/4 (e) sinx° =-0-707 ) tanx°=-2

(g) sinx®=3/5 (h) cosx°=-0-111 (i) tanx°=5/g

(G) 8simx°+5=0 (k) 6cosx°+3=0 I 1-5tanx® =0
(m) 20sinx° — 17 =0 (n) 15—25cosx® =0 (0) Stamx®+7=0
(p) Ssinx® + 3 =2sinx° +5 (qQ) 7cosx°—1=cosx°+4

(r) 10tanx® + 8 = 3tanx° + 4 (s) 6sinx® + 11 =3sinx° + 10
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